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 If n is a positive integer, then
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NOTE:

  Total number of terms in this expansion is (n+1)
 The sum of the indices of ‘x’ and ‘a’ in each
term of the expansion is equal to n
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 Binomial coefficients:

n21o cccc n......,.........n,n,n  are called the bino-
mial coefficients in the expansion of (x+a)n.  They
are denoted by C
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 Greatest binomial coefficient:  The binomial
co-efficient of the middle term is the greatest bi-
nomial co-efficient in the expansion of (x+a)n

 If n is even, the greatest binomial coefficient in
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 Numerically  greatest term in the expansion of
(1+ x)n where n is a positive interger.
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LEVEL - I

I. NUMBER OF TERMS:

1. If n is a positive integer, then the number of terms
in the expansion of (x+a)n is
1) n 2) n+1
3) n+2 4) infinitely many

2. In any binomial expansion, the number of terms is
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III. INDEPENDENT TERMS:
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33. The coefficient of x9 in (1+9x+27x2+27x3)6 is
1)18C

9
.39 2)18C

8
.39 3)18C

10
.38  4) 8C

9
.37

34. In the expansion of (3+ax)9 coefficients of x2 and
x3 are equal then a=

1) 
7

9
2) 

9

7
3) -

7

9
4) -

9

7

35. In the expansion of 
n

3

x
2 






  , coefficients of x7

and x8 are equal. Then n=
1) 49 2) 50 3) 55 4) 56

36. If the coefficients of (2r+4)th term and (r-2)th term
in the expansion of (1+x)18 are equal, then r =
1) 4 2) 5 3) 6 4) 7

37. If the coefficients of (r+2)th and (2r+1)th terms
(r 1) are equal in the expansion of (1+x)43,
then r =
1) 12 2) 13 3) 14 4) 15

38. If the coefficients of (3r)th and (r+2)the terms in
the expansion of (1+x)2n are equal (r>1, n>2),
then
1) n=2r 2) n=3r    3) n = 2r+1  4)n = 4r

39. Sun of the coefficients of  1
n

x  is  always a
1) any integer 2) positive integer
3) negative integer 4) zero

40. If the coefficient of x in the expansion of
(1+ax)8(1+3x)4-(1+x)3(1+2x)4 is zero, then a=
1) 1/4 2) -1/4 3) 1/8 4) -1/8

41. If the coefficients of 5th, 6th and 7th terms in the
expansion of (1+x)n are in A.P. then n =
1) 7 2) 14 3) 7 or 14    4) 8

42. If the coefficients of rth, (r+1)th and (r+2)th terms
in the expansion of (1+x)14 are in A.P. then r =
1) 5 2) 9 3) 7 4) 5 or 9

43. If the coefficients of 2nd, 3rd and 4th terms in the
expansion of (1+x)2n are in A.P. then n =

1) 1 2) 
2

7
3) 1 or 

2

7
4) 5 or 7

44. If (x-2)100=


100

0r

r
r x.a , then

a
1
+2a

2
+.........+100a

100 
=

1) 100 2) -100 3) 1 4) 101
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45. The greatest coefficient in the expansion of
(1+x)2n+2 is

1) 2)!n(

)!n2(
2) 2))!1n((

)!2n2(





3) )!1n(!n

)!2n2(




4) )!1n(!n

)!n2(



46. If (x-2)100=


100

0r

r
r x.a , then a

97
=

1) (-2)3 100C
3

2) 8(100C
3
)

3) 16(100C
4
) 4) 97

47. Coefficient of x in the expansion of

(1-2x3+3x5)
8

x

1
1 






   is

1) 154 2) 164 3) 146 4) 156
48. Coefficient of x5 in the expansion of

(1+x)10.
20

x

1
1 






   is

1) 30C
5

2) 10C
5

3) 20C
5

4) 30C
20

V. RATIOS:
49. The ratio of the coefficient of x10 in (1-x2)10 and

the term independent of x in 
10

x

2
x 






   is

1) 32 : 1 2) -32 : 1 3) -1 : 32 4) 1 : 32

50. In the expansion of 

n

a3

1
a 








  if the ratio of

the binomial coefficient of the 4th term to the bi-

nomial coefficient of the 3rd term is 
3

10
, the 5th

term is
1) 55a 2) 45a2 3) 50a2 4) 55a2

51. If the ratio of the coefficients of rth term and (r+1)th
term in the expansion of (1+x)20 is  1 : 2, then r =
1) 4 2) 5 3) 6 4) 7

52. The ratio of the rth term and the (r+1)th term in
the expansion of (1+x)n is

1) x)1rn(

r

 2) x)1rn(

1



3) 
1rn

r


4) 

r

x)1rn( 

53. The ratio of (r+1)th and rth terms in the expansion
of (1-x)n is

1) - x)1rn(

r

 2) x)1rn(

r



3) 
r

x)1rn( 
4) 

r

x)1rn( 

54. The ratio of  n
rc  and 

1
n

rc   is

1) 1 ;n r r  2) ;n r r

3) 1 ;n r r  4) ;n r r
55. In the expansion of (a+b)n, the ratio of the bino-

mial coefficients of 2nd and 3rd terms is equal to
the ratio of the binomial coefficients of 5th and 4th
terms, then n=
1) 4 2) 5 3) 6 4) 7

56. If the coefficient of xn in (1+x)2n is ‘a’ and the co-

efficient of xn in (1+x)2n-1 is b, then 
b

a
=

1) 2 2) 4 3) 2n 4) n
57. The ratio of the coefficient of (r+1)th term in the

expansion in the expansion of (1+x)n+1 to the sum
of the coefficients of rth and (r+1) terms in the
expansion of (1+x)n is
1) 1 : 1 2) 1 : 2 3) 2 : 1 4) 1 : 4

58. If the coefficients of (r-1)th, rth and (r+1) terms in
(x+1)n are in the ratio 1 : 3 : 5, then n=
1) 5 2) 6 3) 7 4) 8

59. The two successive terms in the expansion of
(1+x)24 whose coefficients are in the ratio 4 : 1 are
1) t

18
, t

19
2) t

19
, t

20
3) t

20
, t

21
4) t

21
, t

22

VI. MIDDLE TERMS:

60. The middle term in the expansion of 
10

x

1
x 






   is

1) 10C
4
.
x

1
  2) 10C

5
3) 10C

5
.
x

1
 4) 10C

6
.x

61. The middle term in the expansion of (1+x)2n is
1) 2nC

n
2) 2nC

n-1
.xn+1

3) 2nC
n-1

.xn-1 4) 2nC
n
.xn

62. The middle term of 
1n2

x

1
x









   is

1) (2n+1)C
n
.x 2) (2n+1)C

n
3) (-1)n(2n+1)C

n
4) (-1)n(2n+1)C

n
.x

63. The middle term in the expansion of 

8

2
3

2

5

2

3

b

y

a

x

















 is

1) 8C
4
. 62

106

ba

y.x
2) 8C

4
. 42

86

ba

y.x
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3) 8C
5
. 52

105

ba

y.x
4) 8C

1
. 52

105

ba

y.x

64. The product of two middle terms in the expansion

of 

92

x3

1

2

x3










  is

1) (9C
4
)2.

512

x9

2) 9C
4
.9C

5
.
512

x8

3) -9C
4
.9C

5
.
512

x9

4) 9C
4
.9C

5
.

256

x9

VII. NUMERICALLY GREATEST TERMS:

65. When x=
2

5
, numerically greatest term in the ex-

pansion of (3+2x)15 is
1) 6th 2) 8th 3) 10th 4) 12th

66. When x=1, y=
2

3
, numerically greatest term in the

expansion of (2x-3y)12 is
1) 6th 2) 8th 3) 10th 4) 12th

67. When x=9, y=4, value of the numerically greatest
term in the expansion of (2x-3y)28 is
1) 28C

12
.240.344 2) -28C

12
.240.344

3) 28C
11

.239.345 4) 28 39 45
11 .2 . 3c

68. When x=2, y=1, value of the numerically greatest
term in the expansion of (5x-6y)16 is
1) 16C

6
, 510.216.36 2) 16C

5
.511.217.317

3) -16C
5
.511.217.317 4) 16C

2
.511.217.317

69. Value of the numerically greatest term in the ex-

pansion of 

20

3

1
13 








  is

1) 20C
7
.

327

1
2) 20C

8
.
27

1

3) 20C
8
.

327

1
4) 20C

7
.
27

1

VIII. COEFFICIENTS:

70. In the expansion of 

n3
2

a

a
aa 










  the binomial

coefficient of 3rd term is 36. The 7th term is

1) 84 a3 a 2) 84 a2 a
3) 84 a2 4) 84 a3

71. In the expansion of (x+xlog10x)5, the third term is
106, then x=
1) 1 2) 2 3) 10 4) 100

72. The 3rd, 4th and 5th terms in the expansion of
(1+x)n are 60, 160 and 240 respectively, then x=
1) 2 2) 4 3) 5 4) 6

73. Sum of the coeffients of  25
1 x  is

1) -1 2) 1 3) 0 4) 252
74. If the 2nd, 3rd and 4th terms in the expansion of

(a+b)n are 135, 30 and 10/3 respectively, then n=
1) 5 2) 6 3) 7 4) 8

75. The 21st and 22nd terms in the expansion of
(1+x)44 are equal. Then x=
1) 8/7 2) 7/8 3) 7 4) 8

76. If 462, 330 and 165 are three successive coeffi-
cients in the expansion of (1+x)n, then n=
1) 9 2) 10 3) 11 4) 12

77. If the coefficient of pth term in the expansion of
(1+x)n is p and that of (p+1)th term is q, then
(p+q-1)=
1) n 2) 2n 3) 3n 4) 4n

78. If a, b, c, d are any four consecutive coefficients in

the expansion of (1+x)n, then 
ba

a


, 

cb

b


,

dc

c


 are in

1) A.P. 2) G.P. 3) H.P. 4) A.G.P
79. In the expansion of (1+x)n, the binomial coeffi-

cients of 3 consecutive terms are respectively 220,
495 and 792, then n=
1) 4 2) 8 3) 12 4) 16

80. The coefficients of x16 and x17 in (a+bx)101 are
equal. If a and b are natural numbers, then the
least possible value of ‘a’ is
1) 1 2) 3 3) 5 4) 7

81. The coefficient of xk (0kn) in the expansion of
1+(1+x)+(1+x)2+..........+(1+x)n is
1) (n+1)C

k
2) nC

k
3) nC

k+1
4) (n+1)C

k+1
82. The consecutive terms whose coefficients are equal

in the expansion of (5+10x)80 are
1) t

27
, t

28
2) t

53
, t

54
3) t

54
, t

55
4) t

26
, t

27
83. The consecutive terms whose coefficients are equal

in the expansion of (8+7x)44 are
1) t

21
, t

22
2) t

23
, t

24
3) t

22
, t

23
4) t

20
, t

21
84. The coefficients of 2nd, 3rd and 4th terms in the

expansion of (1+x)n are in A.P. then n=
1) 7 2) 8 3) 9 4) 14

85. The coefficients of 9th, 10th and 11th terms in the
expansion of (1+x)n are in A.P. then n =
1) 7 2) 7 or 14    3) 14 4) 21

86. In the expansion of (x+y)n, if the binomial coeffi-
cient of the third term is greater by 9 then that of
the second term, then the sum of the binomial co-
efficients of the terms occupying the odd places is
1) 29 2) 26 3) 25 4) 28
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87. If (1+ax)n=1+9x+27x2+............ then (a, n)=
1) (1, 9) 2) (2, 9) 3) (3, 3) 4) None

88. The first 3 terms in the expansion of (1+x+x2)10

(in the ascending powers of x) are
1) 1, 10x, 55x2 2) 1,10x,65x2

3) 1, 10x, 75x2 4) 1,5x, 10x2

89. If the first three terms in the expansion of (1+ax)n

are 1, 8x, 24x2 respectively, then a=
1) 1 2) 2 3) 4 4) 8

90. In the expansion of 

n

4 y2

1
y 










 , the first three

co-efficients form an A.P. then n =
1) 2 2) 4 3) 6 4) 8

91. If the sum of the coefficients in the  expansion

 17121 3x x   is

1) 2 2) 1 3) 1712 4) -1

92. In the binomial expansion of 

8

4

1

2
y

y

 
  

 
, the

terms in the expansion in which the power of y is a
natural number are
1) T

1
, T

5
2) T

1
, T

2
, T

3
, T

4
3) T

2
, T

4
4) T

1
, T

3
, T

5
93. The value of (1.02)4+(0.98)4 correct to three deci-

mal places is
1) 2.004 2) 2.005 3) 2.006 4) 1.995

94. The value of (1.01)10 correct to 3 decimal places
is
1) 1.105 2) 1.205 3) 1.104 4) 1.204

95. If two consecutive terms in the expansion of (p+q)n

are equal, where n is a positivve integer, then

qp

q)1n(




 is

1) a rational number 2) a positive integer
3) a negative integer 4) an integer

IX. SUM OF COFFICIENTS:
96. Sum of the binomial coefficients in the expansion

of 
n

2nx2

3

3

x2






   is equal to 64. The term inde-

pendent of x is

1) 
5

27
2) 

27

5
3) 

27

7
4) 

7

27

97. The sum of the coefficients in the expansion of (1-
x)10 is
1) 0 2) 1 3) -1 4) 210

98. If the sum of the coefficients in the expansion of
(x+y)n is 4096, then the greatest coefficient is
1) 11C

5
2) 12C

5
3) 12C

6
4) 14C

7

99. Sum of the coefficients in the expansion of
(5x-4y)n where n is a positive integer is
1) 1 2) 9n 3) (-1)n 4) 5n

100. The sum of the coefficients in the expansion of
(1+x-3x2)2143 is
1) 0 2) 1 3) -1 4) (-2)2143

101. If    (1+x-2x2)6=


12

0r

r
r x.a ,  then a

2
+a

4
+.......+a

12
=

1) 64 2) 63 3) 32 4) 31

102. If (1-2x+3x2)n=


n2

0r

r
r x.a , then 



n2

0r
ra.r =

1) n.2n-1 2) 2n 3) n.2n 4) n.2n+1

103. If (1-2x+x2)n=


n2

0r

r
r x.a , then a

r
=

1) 2nC
r

2) nC
r

3) (-1)r  nC
r

4)(-1)r 2nC
r

104. In the expansion of (x+a)n, sum of the odd terms
is P and the sum of the even terms is Q, then 4PQ=
1) (x2-a2)n 2) (x+a)2n+(x-a)2n

3) (x+a)2n-(x-a)2n 4) (x-a)2n-(x+a)2n

105. In the expansion of (1-x)n, the sum of the odd
terms is S

1
, and the sum of the even terms is S

2
,

then S
1
-S

2
=

1) 0 2) (1+x)n 3) -(1-x)n 4) (1-x)2n

106. If a=4/3 and b=3/4, then the sum of the odd terms
in (6a+8b)3 exceeds the sum of the even terms by
1) 1 2) 8 3) 27 4) None

107. In (1+ax)n, sum of the coefficients is S
1
. If we

double ‘a’ and half ‘n’, the new sum is S
2
. Then

1) S
1
 > S

2
2) S

1
 < S

2

3) S
1
 = S

2
4) Cannot be decided

X. INFINITE SERIES  (RATIONAL POW-
ERS):

108. Expansion of   5
2

x74


  is valid if

1) x<
7

4
2) x>

7

4

3) -
7

4
<x<

7

4
4) 

4 4

7 7
x  

109. Expansion of 
x31

1

x2

5





 is valid if

1) -2<x<2 2) x<-2 (or) x>2

3) x<
3

1
4) -

3

1
<x<

3

1

110. To expand 2
1

2x

3
4









   as the sum of infinite se-

ries, |x|>

1) 
3

2
2) 

2

3
3) 2 4) 1/2
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111. In the expansion of (2-3x)-1, the 3rd term is

1) 
4

x9 2

2) 
8

x9 2

3) 
8

x27 3

4) 
16

x27 3

112. 4th term of 
4
3

3

x2
1 






   is

1) 
72

x5 3

2) -
72

x5 3

3) 
432

x5 3

4) -
432

x5 3

113. a>0, b<0. If the first two terms in the expansion of

22 )bxa(

1

)x1(

1




  are 2, 3x, then (a, b)=

1) (1, -1) 2) (2, -1/2)
3) (2, -1) 4) (1, -1/2)

114. In the expansion of 
x31

1


, coefficient of x4 is

1) 81 2) 27 3) -27 4) 28

115. In the expansion of 2

2

)x21(

x1




, coefficient of x7 is

1) 128 2) 96 3) 832 4) 1024

116. In the expansion of 2

2

)x1(

x3x21




 coefficient of

x20 is
1) 35 2) 36 3) 37 4) 38

117. In the expansion of (1+x+x2+x3+x4)-2, coefficient
of x10 is
1) 3 2) 5 3) 7 4) 9

118. In the expansion of 2)x1(

x3




 coefficient of xr is

10, then r=
1) 3 2) 4 3) 3.5 4)  4.5

119. In the expansion of (1+x+x2+......... )3, the co-
efficient of xn is

1) 
2

)1n(n 
2) 

2

)2n)(1n( 

3) 
2

)1n(n 
4) 

2

)3n)(2n( 

120. The coefficient of xn in  3

2

)x1(

)x1(




 is

1) 3n2+2n+1 2) 2n2+2n+1
3) 3n2+n+1 4) 2n2-2n+1

121. Coefficient of xr in the expansion of 3

2

)x21(

)x1(




 is

1) (2r2+r+2)2r-2 2) (9r2+15r+8)2r-3

3) (9r2+15r+8)2r-2 4) (2r2+r+2)2r-3

122. Coefficient of x4 in the expansion of

)2x)(1x(

1

  is

1) 
32

1
2) 

32

11
3) 

32

21
4) 

32

31

123. Coefficient of xn in the expansion of 
6x5x

4x
2 


 is

1) nn 2

1

3

1
 2) 1nn 2

1

3

1




3) n1n 2

1

3

1


 4) 1n1n 2

1

3

1




124. The coefficient of  x7 in (1+2x+3x2+ ...... )-3  is
1)  0 2)  1 3)  2 4)  3

125. Coefficient of  x4 in 
x

x

21

)31( 2




 is

1)  1 2)  4 3)  3 4)  2
126. Coefficient of xn in the expansion of

)bx)(ax(

x

  is

1) nn

nn

ba

1

ba

ba














2) nn

nn

ba

1

ba

ba














3) nn

nn

ba

1

ba

ba














4) ab

127. Coefficient of xn in the expansion of
(1-2x+3x2-4x3+............. )2 is

1) 
!3

)2n)(1n(n 

          2) (-1)n.
!3

)2n)(1n(n 

3) 
!3

)3n)(2n)(1n( 

4) (-1)n.
!3

)3n)(2n)(1n( 

128. If n is a positive integer, then the coefficient of xn in

the expansion of 
x1

)x1( n




 is

1) (n+1)2n    2) 2n 3) 2n-1 4) n.2n

129. If n is a positive integer, then the coefficient of xn in

the expansion of 
x1

)x21( n




 is

1) n.3n 2) (n-1)3n 3) (n+1)3n 4) 3n

130. If n is a positive integer, then the coefficient of xn in

the expansion of 
x31

)x21( n




 is

1) 1 2) 2n 3) 3n 4) 4n

131. Value of  3
1

03.1  upto 4 decimal places is

1) 1.0998 2) 1.0099 3) 1.0098 4) 1.0989
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132. 1+n 



















.......
n1

n2

!2

)1n(n

n1

n2
2

=

1) 
n

n1

n1










2) 
n

n1

n1










3) 
n

n1

n31











4) 
n

n31

n1











133. 1+ 





 ......
6.4.2

)2n)(1n(n

4.2

)1n(n

2

n
=

1) 2n 2) 
n

2

1








3) 
n

3

2








   4) 
n

2

3








134. 1+ 





 ......
9.6.3

)2n)(1n(n

6.3

)1n(n

3

n
=

1) 
n

2

3








2) 
n

3

2








3) 
n

3

4








  4) 
n

4

3








135. Neglecting xn for n2, vlaue of
 
 

1

4

1

5

1 3

1 3

x

x




 is

1) 1+
3

20

x
2) 1+

27x

20

3) 1-
3

20

x
4) 

27x
1

20


136. Neglecting xn for n2, value of

 3
1

x71   4
3

x21


  is

1) 1-
6

x5
2) 1+

6

x5

3) 1+
6

x23
4) 1-

6

x23

137. If x is small 9x16x 22  =

1) 1+
24

x2

2) 1-
24

x2

3) 1+
48

x2

4) 1-
48

x2

138. If ‘c’ is very small when compared to ‘k’, then

2
1

2
1

ck

k

ck

k



















=

1) 2 + 
k

c
2) 2 - 

k

c

3) 2 + 2

2

k4

c3
4) 2 - 2

2

k4

c3

139. If 1+
2

1
.......

x

4

x

3

x

2
32

 , then x=

1) -1+ 2 2) -1- 2 3) 1+ 2 4) 1- 2

140. If 3

1
x)1(

0n

1nn 







, then x=

1) 
4

1
2) -

4

1
3) 

2

1
4) -

2

1

141.  ........
12.8.4

7.4.1

8.4

4.1

4

1
1 =

1) 
3
1

4

1






 2) 

3
1

2

1






 3)  3

1
2 4)  3

1
4

142.  ........
18.12.6

8.5.2

12.6

5.2

6

2
1 =

1) 3
1

2 2) 3
2

2 3) 3
2

4 4) 3
2

2


143.  ........
3

1
.

3.2.1

7.4.1

3

1
.

2.1

4.1

3

1
1

642 =

1) 
2

3
2) 

3
1

3

2






 3) 

3
1

2

3






 4) 

3
1

4

3








144.
2

1 3 1.3 3
1 .

2 5 2.4 5
      +  

3
1 .3 .5 3

2 .4 .6 5
 
   .......  =

1) 
2

5
2) 

5

2
3) 

2

5

2

1
4) 

3

5

145.  .....
15.10.5

7.4.1

10.5

4.1

5

1
1 =

1) 3 5 2) 
2

1
3 5 3) 

3
1

2

5






    4) 

3
1

2

5

2

1








146.  .....
12.8.4

7.5.3

8.4

5.3

4

3
1 =

1) 2 2 2) 
3

2
3) 

27

8
4) 3 2

147. 





  .....

10

1
.

3.2.1

5.3.1

10

1
.

2.1

3.1

10

1
1

5

7
642 =

1) 2 2) 2 2 3) 21/3 4) 
3

2
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148. 





















.....
2

1

!3

5.3.1

2

1

!2

3.1

2

1
642

=

1) 2 2) 2 2 3) 2 2 -1 4) 2 -1

149. If z=  .......
9.6.3

5.3.1

6.3

3.1

3

1
, then

1) z2-2z+2=0 2) z2-2z-2=0
3) z2+2z-2=0 4) z2+2z+2=0

150.
3 3.5 3.5.7

.......
6 6.9 6.9.12
    =

1) 3 3 2) 3 3  - 
3

4

3) 3 3  - 4 4) 2 3

151.  .......
12.9.6.3

9.7.5

9.6.3

7.5

6.3

5
=

1) 3  - 2 2) 
3

1
(3 3  - 2)

3) 
3

1
( 3  - 2) 4) 3 3  - 2

152.  .......
3!.3

7.5

3!.2

5
2

2 =

1) 3 3  - 1 2) 3

3) 3 3  + 1 4) 3 3

153.  .......
18.12.6

8.5

12.6

5

6

1
=

1) 3
1

2
 2) 

2

1
2 3

1




3) 3
1

2
4) 

2

1
23

1



XI. MULTINOMIAL EXPANSIONS:

154. The number of terms in the expansion of (x+y+z)n

is

1) 
2

)1n(n 
2) 

2

)2n)(1n( 

3) 
2

)3n(n 
4) 

2

)3n)(1n( 

155. The coefficient of x2y3z4 in the expansion of
(ax-by+cz)9 is
1) 1260a2b3c4 2) -1260a2b3c4

3) 1220a2b3c4 4) -1220a2b3c4

156. Coefficient of x16 in (1+x+x2)(1-x)15 is
1) 16 2) -14 3) 14 4) -16

157. Coefficient of x10 in (1+2x4)(1-x)8 is
1) -56 2) 56 3) 112 4) -112

158. Coefficient of x5 in (1+x2)5(1+x)4 is
1) 60 2) 80 3) 90 4) 100

159. Coefficient of x4 in (1+x-2x2)6 is
1) -60 2) -45 3) 45 4) 15

160. Coefficient of x4 in (1+x+x2+x3)11 is
1) 55 2) 605 3) 990 4) 1120

161. Coefficient of x7 in the expansion of
(1-x-x2+x3)6 is
1) 140 2) 280 3) 144 4) -144

XII. BINOMIAL COEFFICIENTS:

162. 2nC
2
+2nC

4
+......+2nC

2n
=

1) 22n 2) 22n-1 3) 22n-1 4) 22n-1-1
163. (2n+1)C

1
+(2n+1)C

3
+.........+(2n+1)C

2n+1
=

1) 22n+1 2) 22n+1-1 3) 22n 4) 22n-1

164. nC
0
+nC

2
+nC

4
+......+nC

2 





2

n
=

1) 22n-1 2) 22n-1-1 3) 2n-1 4) 2n-1-1

165. If n is odd, nC
1
+nC

3
+nC

5
+.........+nC

2 





2

n
-1
=

1) 2n-1 2) 2n-1-1 3) 2n 4) 2n-1

166. If n is even, nC
1
+nC

3
+nC

5
+.......+nC

2 




2

n
-1
=

1) 2n-1 2) 2n-1-1 3) 2n 4) 2n-1
167. A.2nc

n
 = C

0
2+C

1
2+C

2
2+C

3
2+...........+C

n
2

B.2nc
n
 = term independent of x in (1+x)n

n

x

1
1 






 

C.2nc
n
 = 

!n

)1n2...(..........7.5.3.1 
 then

1) A, B are false, C is true
2) A is false, B and C are true
3) A and B are true; C is false
4) A, B, C are true

168. C
0
+2.C

1
+3.C

2
+............+(n+1).C

n
=

1) (n+2)2n 2) n.2n

3) n.2n-1 4) (n+2)2n-1

169. C
1
+2.C

2
+3.C

3
+..........+n.C

n
=

1) n.2n 2) n.2n-1

3) (n+1)2n 4) (n+1)2n-1

170. C
0
+3.C

1
+5.C

2
+..........+(2n+1).C

n
=

1) (n+1)2n 2) (2n+1)2n-1

3) (2n+1)2n 4) (n+1)2n-1

171. 2.C
0
+3.C

1
+4.C

2
+........+(n+2).C

n
=

1) (n+3)2n 2) (n+4)2n-1

3) (n+1)2n 4) (n+1)2n-1

172. 5.C
0
+8.C

1
+11.C

2
+........ to (n+1) terms =

1) (3n+5)2n 2) (3n+5)2n-1

3) (3n+10)2n 4) (3n+10)2n-1
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173. C
1
+4.C

2
+7.C

3
+.........+(3n-2).C

n
=

1) (3n-4)2n-1 2) (2n-3)2n-1

3) (2n-3)2n-1+2 4) (3n-4)2n-1+2
174. 3.C

0 
- 5.C

1 
+ 7.C

2 
-.......+(-1)n(2n+3).C

n
=

1) 0 2) 3 3) -3 4) none
175. 3.C

1
 - 4.C

2
 + 5.C

3
 - ...... +(-1)n-1(n+2).C

n
=

1) 0 2) 2 3) -2 4) none
176. (a-1).C

1
 - (a-2).C

2
 + (a-3).C

3
 - ............

(-1)n-1(a-n).C
n
=

1) 0 2) a-1 3) a 4) a+1
177. C

1
+2C

2
.a+3.C

3
.a2+...........+2n.C

2n
.a2n-1=

1) n(1+a)n-1 2) n(1+a)n

3) 2n(1+a)2n-1 4) 2n(1+a)2n

178.
1n

n

2

3

1

2

0

1

C

C
n...........

C

C
3

C

C
2

C

C


 =

1) 
2

)2n)(1n( 
2) 

2

)1n(n 

3) 
2

)1n(n 
4) 

2

)2n(n 

179.
14

15
15

15

2
15

3
15

1
15

2
15

0
15

1
15

c

c
.15....

c

c
.3

c

c
.2

c

c
 =

1) 105 2) 91 3) 120 4) 15

180. 2.C
0
+22.

1n

C
.2..........

3

C
.2

2

C n1n231


 

=

1) 
)1n(2

13 1n




2) 
1n

13 1n




3) 
1n

13n




4) 
1n

13n




181. C
0
.a+

1n

C.a
..........

3

C.a

2

C.a n
1n

2
3

1
2





=

1) 
1n

1)a1( 1n


 

2) 
)1n(a

1)a1( 1n


 

3) 
1n

1)a1( n




4) 
)1n(a

1)a1( n




182. C
0

2+3.C
1

2+5.C
2

2+.........+(2n+1).C
n
2=

1) (n+1)2n 2) (2n+1)2nc
n

3) (n+1).2nc
n

4) None
183. C

0
2+2.C

1
2+3.C

2
2+........+(n+1).C

n
2=

1) (n+2).2nc
n

2) 





 

2

2n
.2nc

n

3) (n+2).2n-1 4) (n+1).2nc
n

184. )2n)(1n(

C
..........

4.3

C

3.2

C

2.1

C n210


 =

1) 
)2n)(1n(

n2 1n




2) 
)2n)(1n(

3n2 2n




3) 
1n

12n




4) 
)2n)(1n(

12 1n




185.
)2n)(1n(

C.2
...

4.3

C.2

3.2

C.2

2.1

C.2 n
2n

2
4

1
3

0
2






=

1) 
23 2 5

( 1)( 2)

n n

n n

  
  2) 

1n

3n23 1n




3) 
1n

2 1n




4) 

1n

2 1n





186.        2n2
n22

2
n22

1
n22

0
n2 c....ccc  =

1) 2nc
n

2) (-1)n.2nc
n

3) (-1)n/2.nc
n/2

4) (-1)n/2.2nc
n

187. If n is an even integer,

         !1)!1n(

1
....

)!5n(!5

1

)3n(!3

1

)!1n(!1

1










 =

1) 
!n

2n

2) 
)!1n(

2n

 3) 
!n

2 1n
   4) 

)!1n(

2 1n





188. Sum of the products of the binomial coefficients
C

0
, C

1
, C

2
, ............. C

n
 taken two at a time is

1) 22n - 2nc
n

2) 2n - 2nc
n

3) 
2

1
(2n - 2nc

n
) 4) 

2

1
(22n - 2nc

n
)

189. The sum to (n+1) terms of the series

5

C

4

C

3

C

2

C 3210  +.........=

1) 
1n

1


2) 

2n

1



3) )1n(n

1

 4) )2n)(1n(

1


190. 5C

0
+2.5C

1
+22.5C

2
+23.5C

3
+24.5C

4
+25.5C

5
=

1) 32 2) 243 3) 64 4) 729

XI. NUMBER OF INTEGRAL AND
RATIONAL TERMS:
191. The total number of terms in the expansion of

(x+a)100+(x-a)100 after simplification is
1) 202 2) 51 3) 101 4) 50

192. The number of terms in the expansion of

(1+5 2 x)9+(1-5 2 x)9 is
1) 5 2) 10 3) 18 4) 20

193. The number of rational terms in the expansion of

 1244 53   is

1) 31 2) 32 3) 33 4) 34
194. Total number of rational terms in the expansion of

 13634 43   is

1) 10 2) 11 3) 12 4) 21
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195. Sum of the third from the begining and the third
from the end of the binomial coefficients of the

expansion of  n34 43   is equal 9900. Num-

ber of rational terms contained in the expansion is
1) 8 2) 9 3) 10 4) 11

196. In the expansion of  3635 73  , the integer

terms are
1) T

6
, T

21
, T

36
2) T

7
, T

22
, T

37
3) T

7
, T

9
, T

11
4) T

5
, T

20
, T

35

XIII MISCELLANEOUS:

197. The greatest integer less than or equal to

 632   is
1) 2702 2) 2701 3) 2700 4) 2699

198. Given ( 2 1 )6+( 2 1 )6   =198, the integral part
of ( 2 +1)6 is
1) 196 2) 195 3) 197 4) 194

199. If x=(99)50+(100)50 and y=(101)50 then
1) x>y 2) x<y
3) x=y 4) cannot be decided

200. The expansion

   
5

2
1

3

5

2
1

3 1xx1xx
























  is a polyno-

mial of degree
1) 5 2) 6 3) 7 4) 8

201. ( 2 1 )6+( 2 1 )6 =
1) 99 2) 98 3) 196 4) 198

202. If n is a positive even integer, which of the follow-
ing will always be integers

A.    nn
1212 

B.     nn
1212 

C.      1n21n2
1212




D.      1n21n2
1212




1) A and B only 2) A and C only
3) A and D only 4) B and C only

203. If (6 + 35 )n=I+F when I is odd and 0<F<1,
then (I+F)(1-F)=
1) 1 2) 1/2 3) 2 4) 4

204. If (9 + 80 )n=I+F, where I is odd and 0<F<1,
then 1-F=
1) 1 2) (9 - 80 )n

3) (9 + 80 )n 4) 4

KEY

01. 2 02. 2 03. 2 04. 3
05. 1 06. 1 07. 1 08. 4

09. 4 10. 1 11. 2 12. 1
13. 4 14. 2 15. 2 16. 2
17. 2 18. 3 19. 4 20. 2
21. 3 22. 1 23. 4 24. 2
25. 1 26. 3 27. 1 28. 1
29. 2 30. 2 31. 3 32. 1
33. 1 34. 1 35. 3 36. 3
37. 3 38. 1 39. 2 40. 4
41. 3 42. 4 43. 2 44. 2
45. 2 46. 1 47. 1 48. 1
49. 4 50. 4 51.4 52. 1
53. 3 54. 1 55. 2 56. 1
57. 1 58. 3 59. 3 60. 2
61. 4 62. 4 63. 1 64. 3
65. 3 66. 3 67. 4 68. 1
69. 3 70. 2 71. 3 72. 1
73. 3 74. 1 75. 2 76. 3
77. 1 78. 1 79. 3 80. 3
81. 4 82. 3 83. 1 84. 1
85. 3 86. 3 87. 3 88. 1
89. 2 90. 4 91. 4 92. 1
93. 2 94. 1 95. 2 96. 2
97. 1 98. 3 99. 1 100.3

101. 4 102. 4 103. 4 104. 3
105. 2 106. 2 107. 1 108. 3
109. 4 110. 2 111. 2 112. 4
113. 4 114. 1 115. 3 116. 4
117. 3 118. 3 119. 2 120. 2
121. 2 122. 4 123. 3 124. 1
125. 2 126. 3 127. 4 128. 2
129. 4 130. 1 131. 2 132. 2
133. 4 134. 1 135. 2 136. 4
137. 2 138. 3 139. 2 140. 2
141. 4 142. 2 143. 3 144. 1
145. 2 146. 3 147. 1 148. 4
149. 3 150. 3 151. 2 152. 4
153. 2 154. 2 155. 2 156. 3
157. 2 158. 1 159. 2 160. 3
161. 4 162. 4 163. 3 164. 3
165. 2 166. 1 167. 3 168. 4
169. 2 170. 1 171. 2 172. 4
173. 4 174. 1 175. 2 176. 3
177. 3 178. 2 179. 3 180. 2
181. 1 182. 3 183. 2 184. 2
185. 1 186. 2 187. 3 188. 4
189. 4 190. 2 191. 2 192. 1
193. 2 194. 3 195. 2 196. 2
197. 2 198. 3 199. 2 200. 3
201. 4 202. 3 203. 1 204. 2

LEVEL - II
INDEPENDENT TERM & VALUES:
1. The term in dependent of x in the expansion

3

x

2
x21 






  is

1) 12 2) 18 3) 36 4) 25
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2. If a term independent of x is exist in the expansion

of 
n

x
x 






 

2

1
 then n must be

1) a multiple of 2 2) a multiple of 3
3) a multiple of 5 4) a multiple of 7

COEFFICIENT OF XK:
3. The coefficient of px in the expansion of

n2
2

x

1
x 






  , when exists is

1) 
3

pn4Cn2  2) 
3

pn2Cn2 

3) 
3

pnCn2  4) 
3

pnCn 

4. The coefficient of 
x

1
in the expansion of

 
n

n

x

1
1x1 






  is

1)    !1n!1n

!n

 2)    !1n!1n

!n2



3)    !1n2!1n2

!n

 4)    !1n2!1n2

!n2



5. The expansion 

402

2

x3
x 










 is a polynomial of

thn degree in x. then n=
1) 20 2) 40 3) 80 4) 120

5)a. The term independent of x in the expansion of

 
92

3 3 1
1 2

2 3

x
x x

x

 
   

 
 is

1) 
13

54
2) 

15

54
3) 

17

54
4) 

19

54

COEFFICIENTS:

6. If the coefficients of rdnd 3,2 and th4  terms of the

expansion of   n2x1  are in A.P. then the value

of 7n9n2 2  is
1) 0 2) 5 3) 2 4) 6

7. In the expansion of  nx1 if the coefficients of
three consecutive terms are in A.P. then n+2 is
1) 2n 2) a perfect square
3) a perfect cube 4) None

8. If   10
10

2
210

10 xa....xaxaakx1   and

01a
5

7
a 12   then k=

1) 91,51  2) 91,51

3) 71,51  4) 91,51 

9. If the term containing 3x in 
n

n

x
1 






  is 

8

7
 when

x=-2 and n is a positive integer, then n=
1) 7 2) 8    3) 9 4) 10

10. If the th5 term of 
8

px
x2

q






  is 1120 and

qp,5qp   then p=
1) 3 2) 6 3) 4 4) 7

11. The coefficient of 53x in the expansion of

 



100

0m

mm100
m

100 2.3xC is

1)  53,100C 2)  43,100C

3)  53,100C 4) 50
100 C

12. In the expansion    nm x1x1  , the coefficients

of x and 2x  are 3 and -6 respectively, then m is
1) 6 2) 9 3) 12 4) 24

13. The coefficient of 5x in the expansion of

     302221 1........11 xxx   is

1) 5
51C 2) 5

9 C

3) 6
21

6
31 CC  4) 5

20
5

30 CC 
13a. If the coefficient of 2rx  in the expansion of

3

2

1
n

x
x


  
 

is not zero, then 
2

3

n r 
 
 

 is

1) a rational number 2) a positive integer
3) a negative integer
4) a positive rational number

13.b. In the expansion of

 
19 7

13 1

7

log 2

1
log 2

5

1
2

2

x

x

 

 

 
  
  
6th term is 84.  Then x =
1) 1 2) 2 3) 1 or 2 4) 2 or 4

RATIOS:

14. In the expansion of  nx1 , the th5 term is 4

times the th4 term and the th4 term is 6 times the
rd3 term. then n=
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1) 9 2) 10 3) 11 4) 12

15. If 4321 a,a,a,a are the coefficients of
ththrdnd 5and4,3,2 terms in the expansion of

 nx1 respectively, then 



 43

3

21

1

aa

a

aa

a

1) 
32

2

aa

a

 2) 
32

2

aa

a2



3) 
32

2

aa

a3

 4) 
32

3

aa

a4


16. If a and b are values of the second and third terms

respectively in the expansion of   ,x1 n then x=

1) 
a

b2a2 
2) 

b2a

a
2

2



3) 2

2

a

b2a 
4) 2

22

b

b2a 

17. In the expansion of  nba  if two consective

terms are equal, then 
 

ba

b1n




 and 
 

ba

a1n




 are

1) integers 2) complex numbers
3) irrational numbers 4) can not exist

17a. The ratio of  1r  th and  1r  th terms in the

expansion of  na b  is

1) 
   

 
2

2

2 1
.

1

n r n r b

r r a

   


2) 
   

 
2

2

2 1
.

1

n r n r a

r r b

   


3) 
2

.
n r b

r a

  
 
 

4) 
1

.
1

n r b

r a

  
  

SUM OF THE COEFFICIENTS:

18. The sum of the coefficients of even powers of  in

the expansion  532 xxx1  is

1) 512 2) 0 3) -512 4) 510
19. The sum of the coefficients of odd powers of x in

the expansion  532 xxx1  is

1) 520 2) 525 3) 576 4) 512
20. The sum of the binomial coefficients of the

thrd 4,3 terms from the beginning and from the end

of  nxa  is 440 then n=

1) 10 2) 11 3) 12 4) 13
21. The sum of the coefficients in the expansion of

 n2x5x21   and   n3x31  are a and b re-

spectively. Then
1) a<b 2) a=b 3) b=a3 4) b2=a

22. The sum of the coefficients of the first 10 terms in

the expansion of   3x1  is

1) 220 2) 286 3) 120 4) 150
23. The sum of the coefficients of odd terms in

  n2x1 is

1) n22 2) n2 3) 1n2  4) 1n22 

24. If the sum of the coefficients in the expansion of

 5122 1ax2xa  vanishes, then the value of a is
1) 2 2) -1 3) 1 4) -2

25. Sum of coefficients in the expansion of

 10zy2x  is

1) 102 2) 103 3) 94 4) 104

26. If     



40

0r

r
r

202 x.axx1 , then

 39531 a39...........a5a3a
1) 40 2) -40  3) 80 4) -80

27. If      



40

0r

r
r

202 x.axx1 , then

 40642 a20............a3a2a
1) 20 2) 40  3) 10 4) -10

28. The sum of the coefficients of middle terms in the

expansion of   1n2x1 

1)  !n2 2) 
 

!n

!n2

3) 
 
 2!n

!n2
4. 

 
!n

!1n2 

29. If    xaax.......xxx1 10
np32

np
np

2
2 xa.....xa  , then

 np210 a....aaa

1) nP 2)  n1p2 

 3)   1n1p  4)  n1p 

MIDDLE TERMS:

30. The middle term in the expansion of

  n232 xx3x31   is
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1)   n3
n3

n6 xC  2)   1n2
n2

n6 xC 

3)   n3
n3

n4 xC  4)   1n3
n3

n6 xC 
31. The coefficient of middle term in the expansion of

 40x1 is

1)
202.

!20

39.5.3.1 
    2) !20

39.5.3.1 

3) !20

!40
    4) 2020!40

32. If the middle term of   n2x1 is the greatest term
then x lies between

1) nx1n  2) 
n

1n
x

1n

n 




3) 1nxn  4) 
1n

n
x

n

1n






33. If a is the coefficient of the middle term in the ex-

pansion of   n2x1 and b, c are the coefficients
of the two middle terms in the expansion of

  1n2x1  then
1) cba  2) cba 
3) equalareboth 4) cannot be decided

NUMRICALLY GREATEST TERM:
34. The values of x for which the th4 term in the ex-

pansion of  10x35 is the greatest are

1) 
21

20
x

8

5
 2) 

21

20
x

8

5


3) 
21

19
x

7

5
 4) 

21

20
x

8

5


NUMBER OF INTEGRAL AND
RATIONAL TERMS:

35. The number of irrational terms in the expansion

 3634 73   is

1) 30 2) 33 3) 31 4) 29
36. The number of non zero terms in

   7575
1313  is

1) 38 2) 34 3) 37 4) 75
37. The number of terms in the expansion of

 3edcba   is

1) 20 2) 24 3) 27 4) 35

INFINITE SERIES (RATIONAL POWERS):

38. 
32 2

1
.

9.6.3

8.5.2

2.6.3

1.5.2

2.3

1.2
1 =

1) 0.4 (nearly) 2) 3.0

3) 3 4) 13 

39.  33 9971003
1) 0.01 2) 0.02 3) 0.03 4) 0.04

40. The coefficient of 24x in the expansion of

  
3232 x10x6x31

1) 300 2) 250 3) 25 4) 205

41. The coefficient of 10x in  is

 32 3 4 5x x x x x    is

1) 19 2) 18 3) 27 4) 17

42. If ,Nn then 





 







1k

1k

n

1
1k

1)  1nn  2)  1nn 

3) 2n 4)  21n 

43. If nS denotes the sum of first ‘n’  natural  numbers

then 2
1 2 3S S x S x   .... 1..... ...n

nS x    =

1)   1x1  2)   2x1 

3)   3x1  4)   4x1 

44. The coefficient of 2x in the expansion of

  212xx41  is =

1) -3 2) -2 3) 2 4) 
3

2


45. If 1x0  , then the first negative term in the ex-

pansion of   27x1 is

1) 6T 2) 5T 3) 4T 4) 3T

46. If  ....xxxxy 432 , 1x  , then x=

1) 1y

y

 2) y

1
y  3) y1

y

 4) y

1
y 

47. The coefficient of 4x in the expansion of

2xx44

8x3




is

1) 41 2) 4 3) 4 4) 41

48. If ........x4x3x2y 32   then














 .......

2

y

!3

5.3.1

2

y

!2

3.1

2

y
32
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1) 2x    2) x 3) 2x  4) 4x 

49. If 


...xbxbxb1
xx21

1 3
3

2
212

1x  , then the value of 1b is

1) 3 2) 2 3) 4 4) 1
50. If cubes and higher powers of x are negligible then

one can write 
x1

x1




= 2BxAx1  , then A=

1) -1 2) 1 3) 0 4) 2
51. If x is very large and positive we can write

,
x

b

x

a
x1x

52
3 3   then

1) 0ba  2) 0ba3 
3) 0b3a  4) 0b3a 

52. The general term of   21b3a2  is

1) 
  1r

a2

b3

a2

1

!r

5r2......5.3.1 








2) 
  r

a

b

ar

r








4

3

2

1

!

52.....5.3.1

3) 
  r

a

b

a!r

r........








4

3

2

112531

4) 
  1r

a4

b3

a2

1

!r

5r2......5.3.1 















BINOMIAL COEFFICIENTS:

53.  3
2

21 C5.3C5.2C

1) 1n6.n  2) 1n6  3) n6 4) n6.n

54. If   25
25

2
210

25 xC....xCxCCx1 

then  ............CCCC 6420

1) 242 2) 0 3) 122 4) 232

55. 


n

0r

2
rC.r =

1) 
 
 2!n

!n2

2

n
2) 

 
 2!n

!n2
3)  !n2 4) 

 
2

!n2n

56.        1n
n

2
3210 3nC...3C33C2CC

1)   13n n  2) 1n4.n 

3)  14.n 1n  4)  14n 1n 

57.  15
15

4
15

3
15

2
15 C.14.....C.3C.2C

1) 12.14 15  2) 12.13 14 
3) 12.14 15  4) 12.13 14 

58. If 243C2....C4C2C n
n

210  , then n =
1) 3 2) 4 3) 5 4) 6

59. If 128C.......CCC n210   then

 .......
4

C

3

C

2

C
C 321

0

1) 0 2) 8 3) 
8

1
4) 

8

7

60. If   



n

0i

i
i

n xCx1 , then the sum of the prod-

ucts of iC ‘s taken two at a time is represented by



ji

nji0
CC

1) 
 
 2

n

!n2

!n2
2  2) 

 
 2

n

!n2

!n2
2 

3)  2
n2

!n

!n2
2  4)   2

n2

!n2

2

61.   
1

0

n3 dxx1

1)  
1n3

C
1.....

10

C

7

C

4

C
C nn321

0 


2) 
1n3

C
.....

10

C

7

C

4

C
C n321

0 


3) 
2n3

C
.....

10

C

7

C

4

C
C 1n321

0 
 

4) n1n322210 CCCCCCCC 

62. 



1

....
432

321
0 n

CCCC
C n

1)  
1

12 1




n

n

2)  
1

12 1




n

n

  3)  
1

2 1





n

n

4)  
n

n 12 1 

63.          
nC3C2C1C 1n.....1n1n1n

1)  122 n  2)  122 n 

3) 1n2  4)  12 1n 

64. The value of ....
2

n2

1

n2

0

n2
222



























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


















22

n2

n2

1n2

n2
....

1) 







n2

n4
  2) 








n

n2
     3) 0     4)   










n

n2
1 n

65. (2n+1)c
o
- (2n+1)c

1
 + (2n+1)c

2 
-.......(2n+1)c

2n 
=

1) 1 2) n22 3) -1 4) 0

66. If rCr nC  ; then 
8

C

6

C

4

C 753

1)  1n2

2n2 1n




2)  1n2

2nn2 21n




3)  1n2

2n2 21n




4)  1n2

1n22 1n




67.
     

n210

n1n322110
C.........CCC

CC......CCCCCC  

1) 
 

n

1n n
2. 

n

1n




3)  
 

n

1n 1n


 

4)  
 

n

1n n




68. If rrC Cn2  ; then

n2
22

4
2

3
2

2
2

1 C.n2......C.4C.3C.2C 

1) 
 
  !1n

!n2.1 1n


 

2)  
   
  !1n

!n2.1 n




3) 
   

  !1n!.n

!n2.1 1n


 

4) 
   

 !1n

!1n2.1 1n2


 

69. If nP is the product of the Binomial Co-efficients

in the expansion  nx1 then 

n

1n

P

P

1) 
 

!n

1n n
 2) !n

1n 
  3) 

 
n

1n n
4) 1

70.       rC2C2rC1c1rCrC n...n.mn.mm

1) rnCnm  2) rmCnm 

3)  
rCnm  4) 0

71. If     ....2m1mmS
3C2C1C1 

 
nC1nm...... 

    ........2n1nnS
3C2C1C2 

 
nC1nm......   then

1)  0SS 21  2) 0SS 21 

3) n
21 2SS  4) 12SS n

21 
72. The sum of the series

!n

!
2

n
!

2

n
2 
















    2
n

n2
1

2
0 C.1n1.....C.2C  =

where n is even integer is equal to

1) 0 2)    2n1 2n 

3)    2n1 n  4)    1n1 2n 
73. The value of

 n
nn

2
n

1
n

0
n C.3.......C.9C.3C  =

1) n2 2) n3 3) n4 4) n5

74.  



n

0r
rC4r =

1)   n28n  2)   1n28n 

3)   1n24n  4) 0

75. If   n
n

2
210

n xC....xCxCCx1  then
the sum

   1nC.....2C1C0C.....1C0C0C   is
equal to

1) n2.n 2) 1n2.n  3) 1n2.n  4) n2

76.  



n

2r
rC.3r5

1)   2n22.6n5 1n  

2)   3n22.6n5 1n  

3)   2n226n5 1n  

4)   3n226n5 1n  

77. 


 




1n

0r 1r
n

r
n

r
n

CC

C

1) 
2

n
2) 

2

1n 

3) 
 

2

1nn 
4) 

 
 1n2

1nn




78.  ...........CCCC 7531

1) 1n2  2) 
4

n
sin2

2

n



3) 
4

n
cos2 2

n


4) 0
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79. If   16
2

C
1n....

2

C
.3

2

C
.2

2

C
n

n
n

n
2

n

n
1

n

n
0

n



then the value of ‘n’ is
1) 20 2) 25 3) 30 4) 40

80. 
16

C
........

4

C

2

C 1531

1) 
16

1
2) 

16

215

3) 
16

216

4) 
16

1215 

81. 
17

C
........

5

C

3

C

1

C 16420

1) 
17

1
2) 

17

2
3) 

17

216

4) 
17

217

MISCELLANEOUS:

82. If   n2
n2

2
210

n2 xa...xaxaaxx1 

then  630 aaa

1) n3 2) 1n3  3) 2n3  4) 1

83.     
66

5252
1) 1264 2) 1964 3) 2889 4) 5778

84.     
55

1313
1) 152 2) 142   3) 124 4) 162

85.   
6

21

1) 27098 2) 27099
3) 27099 4) 27098

86. Let    ,RRf,1155R
1n2




Rfthen

1) 1 2) n2 3) n22 4) 1n24 

87. If m and n are +ve integers and nm  and if

    nmnm x1x1   is expanded as a polyno-

mial in x, then the coefficient of 2x  is

1) nm2 2  2) mn2 2 

3) nm2 2  4) mn2 2 
88. The number of terms in the expansion of

    233 b4ab4a  are

1) 6 2) 8 3) 7 4) 3
89. The number of terms in the expansion of

    233 b4ab4a  are

1) 6 2) 7 3) 8 4) 32
90. The number of terms in the expansion of

    nn2211 ba.....baba 

1) n2 2) n3 3) n23 4) 22 n

91. The number of rational terms in the expansion of

 63 321  is

1) 6 2) 7 3) 3 4) 8

92. 911 119   is divisible by
1) 7 2) 8 3) 9 4) 10

93. The coefficient of 17x in the expansion of

 1x      18x3x2x  is
1) 164 2) -171 3) 194 4) 221

94. The coefficient of 9x in the expansion of

     100x9x4x1x   is
1) -325 2) 365 3) 425 4) -385

95. For   1nxx1;Nn n  is divisible by

1) 2 2) x 3) 2x 4) 3x
96. If the coefficients of 39x and 40x are equal in the

expansion of  49qxp  . then the possible values
of p and q are
1) 5,1 2) 4,1 3) 3.1 4) 7,2

97. If n210 t............,t,t,t are the consecutive terms

in the expansion  nax  then

     2
531

2
6420 ....ttt....tttt

1) 22 ax  2)  n22 ax 

3) 22 ax  4)  n22 ax 

98. If    ........xxx1xx1x1 322 

     
mxma...2x2ax1a0a1nx2xx1 





 

then m210 a.........aaa  is given by

1) !m 2) !n

3)   !n!m/!m 2 4) n

99. Coefficient of 50x in

      ......x1x3x1x2x1 99829991000  is

1) 50
1000 C 2) 50

1001C

3) 50
1002 C 4) 49

1002 C

100.          11x41x61x41x 234

1) 4x 2) 3x         3) 2x 4) 1

101. If the expansion of  
10

2

x
1 






  is to be valid then x

1)  2,2 2)     ,11,

3)  1R  4) R
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102. A positive integer which is just greater than

 100000001.01  is
1) 3 2) 4 3) 5 4) 6

103. If n is an integer lying between 0 and 21, then the
least value of  !n21!n  is

1) !20!.1 2) !10!.11

3) !12.!9 4) !19!.2
104. Coefficeint of  x5  in the expansion of

)2()1(

3
2  xx

x
  is

1)   
32

171
2)  

64

171
3)  

32

57
4)  

16

57

105. Coefficient of  xn in )31)(21)(1(

)31)(21)(1(

xxx

xxx




 is

1)  12-30.2n-20.3n 2)  12-30.2n+20.3n

3)  12+30.2n+20.3n 4)  12+30.2n-20.3n

106. The coefficient of 9x  in

(x+2)(x+4)(x+8)….(x+1024) is
1)2046 2) 1023 3) 55 4)0

107. The positive integer just greater than

10000(1 0.0001)  is

1) 4 2) 5 3) 2 4) 3

108. If A= 600(300) , B=600!, C= 600(200)  then

1) A<B<C   2) A>B>C
3) A>C and C=B   4) A=B and B>C

109.If 2 2 3(1+x)(1+x+x )(1+x+x +x )...
2 n-1(1+x+x +.....+x ) =

2 m
0 1 2 m+a x+a x +....+ a xa  then

0 1 2 m+a +a +....+ aa  is given by

1) m!     2) n!      3) 2(m!) /m! n!       4) n

110. If 
0 1 22. 3. ...( 1)

2 2 2 2

n nn n
n

n n n n

C CC C
n    =

16, then the value of n =
1) 20 2) 25 3) 30 4) 40

111. If 
n+1

0

( 1) xn

n




 =1/10, then x =

1) 1/9 2) 1/10 3) 1/11 4) 9/10
112. The coefficient of 2x  in the expansion of

m+n m-n(1+x) (1-x)  where m>n and m, n are posi-
tive integers is
1) 22m n 2) 22m +n
3) 22n m 4) 22n +m

113. The sum of the coefficients of the middle terms of
2n-1(1+x)  is

1) 2n-1
nC 2) 2n-1

n+1C

3) 2n
n-1C 4) 2n

nC

KEY

1) 4 2) 2 3)2 4)2
5)3 5a) 3 6)1 7)2
8)1 9)2 10)3 11)3

12)3 13)3 3a)2 13b) 3
14)3 15)2 16)1 17)1

17a) 1 18)1 19)4 20)2
21)1 22)1 23)4 24)3
25)4 26)1 27) 3 28)3
29)4 30)1 31)1 32)2
33)2 34)2 35)2 36)1
37)4 38)1 39)2 40)3
41)3 42)3 43)3 44)4
45)1 46)3 47)1 48)2
49)2 50)1 51)3 52)3
53)1 54)3 55)1 56)3
57)2 58)3 59)3 60)3
61)1 62)1 63)2 64)4
65)1 66)2 67)4 68)3
69)1 70)3 71)2 72)2
73)3 74)2 75)2 76)4
77)1 78)2 79)3 80)4
81)3 82)2 83)4 84)1
85)2 86)4 87)2 88)4
89)2 90)1 91)2 92)4
93)2 94)4 95)3 96)2
97)2 98)2 99)3 100)1

101)4 102)1 103)2 104)1
105)2 106)1 107)4 108)2
109)2 110)3 111)1 112)3
113)4

HINTS

1.
2

2
3

1
3

0
3 2

2
2

2 





 






 

x
xC

x
xCC

3

3
3

x

2
x2C 






  independent of

  25831x 

2.
 

egerintpositivea
3

n

21

01n
r 






3ofmultipleaisn

3. 3

pn4

2p

knp
r








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 
3

pn2
n2

3

pn4
n2 CorC 

4.
 

n

n2

x

x1
coefficient of 1nx  in   n2x1  is

 1n
n2 C 

5. (Highest power of x) . power=2(40)=80

6. If the coefficients of the  thth 1r,r  and

 th2r  terms of  Nx1 are in A.P. then

  2Nr2N 2 

Put 2r;n2N 

7.          squareperfectaisr2n2n 2

8. 2
21 k45a;k10a 

5

1
k0k45

5

7
.k101 2   or 

9

1

9.
verifyxput

n

x
Cn

2

;
8

7
.

3

3











 then n = 8

10.     1120p.
2

q
.C 4

4

4

4
8 

256q.p 44 

  4p4.64p5p 44 

11.    100100 1x23x 

Coefficient of 53x  is 53
100 C

12. 3CC 1
n

1
m 

6CCmn 2
m

2
n   Verify answers

13.          9221 x1x1x11x1 

       2131
10

21 x1x1
1x1

1x1
x1 


















coefficient of 5x is 
   

x

x1x1 2131 

coefficient of 6x  is    2131 x1x1 

6
21

6
31 CC 

14. 3445 T.6T;T.4T 

2
2

n
3

n3
3

n4
4

n x.C.6C;x.C.4x.C 

11n 

15.




























2

3

3

4

1

2

a

a
1

1
2

1n

6

a

a
1

1

a

a
1

1

16.
  2x.

2

1nn
b;nxa




put n =a/x  in  b then
a

b2a
x

2 


17.

   
egersintare

1
b

a
b

a
1n

and
1

a

b
a

b
1n









18.
   

2

1f1f 

19.
   

2

1f1f 

20. 440CCCC 3n
n

2n
n

3
n

2
n  

  440CC2 3
n

2
n 

11n 
21. put x = 1 and compare
22. The sum of coefficients of the first r terms in

  nx1  is n
1rn C

23. Sum of coefficients of odd terms
1n2

420 2CCC 

24.    01f        
 

1a

01a2a2




25. put x = y = z = 1

26.
   

2

11 || ff 

27.
   

4

1f1f || 

28.    
n

n2
1n

1n2
n

1n2 CCC  

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29. put x = 1

30.      n6n23 x1x1 

midile term   =   n3
n3

n6 xC 

31. The coefficient of middle term in   n2x1

is   
  n2

!n

1n2.5.3.1 

32.      middle term 1nT 

 
1n

1x

x1n2
n 






33.    
1n

1n2
n

1n2
n

n2 Cc;Cb;Ca 
 

cba 

34. 21

20
n

8

5
4

1
2

x3
2

x3
11

3 




35. Rational terms   41
3,4ofM.C.L

36










          Irrational terms =   334136 

36.  oddisn
2

175




37.  The number of terms in

            nr21 a.........aa  is n
1rn C

38.
2

1
x,

3

2
n 

  nearly4.04
2

1
1 3

32







 



39.      3131 3100031000

02.0
1000

3
1

1000

3
110

3

1

3

1























 






 

40.      23

2
3 x1x1  

Formula: coefficient of rx in   nx1  is

 
r

1nr C

41. Coefficient of 7x in

          
3635432

x1

x1
xxxxx1 
















    336 x1x1   =      2733361 

42.     .......
n

1
13

n

1
12

n

1
11

210







 






 






 

comparing with

  ..........x3x21x1 22  

2
2

n
n

1
11 














 



43.      2x321x211

  32 x1x6x31 

44.          .....xx4
!2

1
2

1

2

1

xx4
2

1
1

222 






 



coefficient of  
2

3
16

8

1

2

1
x2 



45.
7

3 6
2
     

46.  
1

x
y

x
 


y yx x 

 1y x y         1

y
x

y
 



47.
 
 

  2

2 2

x
1

4

8x3

x2

8x3








 








48.    2x1y1 

      2

1

2

1

y11xy1x1




49.   22
21 x1..............xbxb1 

  b
1
 = 2

50. 




















x1

x2

2

1
1

x1

x1 2

1

1A 

51.  






 





 

63

3

1

3 x9

1

x3

1
1x

x

1
1x


52 x9

1

x3

1
x
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0b3a;
9

1
b;

3

1
a 

52.
2/1

2

3
1

2

1








 

a

b

a

r

a2

b3

!r

1r
2

1
1

2

1

2

1

a2

1































 






 









simplify
53. Put 2n  , nd2  option is satisfied

54.   122

1

2

25

2

25

2

n

22.2
4

25
cos2

4

n
cos2 






55. put n = 2 ; L.H.S. is 6 First option is verified
56. n(1+x)n–1 = C

1
 + 2.C

2
x + 3.C

3
x2 + .... + n.C

n
xn–1

put x = 3 and adding C
0
 on both sides.

57.      2
15

1
15

0
15 C.1C.0C11.S.H.L

  15
15C14.......... 

  12.1321411 14115  

58. (1+2)n = 243             n = 5
59. 2n = 128       n = 7
60. Standard result

61.     Put    
4

3

4

x
xdxx1;1n

1

0

1

0

4
3 












 

62. put n = 1 and verify the options

63.        
n

1n
1

1n
0

1n C.........CC

           ……+    1n
1n

1n 2C 


 

64.         2 2 2

0 1 ......N N N
NC C C  

  2

2

1
N

N
NC   .     If N is even  n2N 

65.         0CC....CC 1n2
1n2

n
1n2

1
1n2

0
1n2  



66. Put n=3

4

1

4

C
.S.H.L 3

3



Option 2 is only 
4

1

67.     Put n=2
  

2

9

1.2.1

1221
.S.H.L 




th4 option is satisfied
68. Put n=2

rd3  option is satisfied

69.

     

n
n

1
n

0
n

1n
1n

1
1n

0
1n

n

1n

C..........C.C

C........C.C

p

p 


 

put n=2; 2

9

22.12.02
33.23.13.03

CCC

CCCC 

Option 1 is only 
2

9

70. Vandermonde’s theorem  
r

nm C

71. Replacing m by n then 21 SS 

72. Let n = 2 then rd3 option is satisfied

73.     n
n

n2
2

n
1

n
0

n 3.C3.C3.CC

  nn 431 

74. 



n

0r
r

n

0r
r C.4C.r

= n1n 2.42.n 

75. Put n = 2 ,  2nd option is satisfied

76. 



n

2r
r

n

2r
r C3C.r5

   1n23n2.n5 n1n  

  3n26n52 1n  

77.    
2

n
n

1n

1

1n

1r

C

C 1n

0r

1n

0r 1r
1n

r
n








 






 


78. Standard result

79.    16C1nC.2C.1
2

1
n

n
1

n
0

n
n



  162.11n
2

1 1n
n

 

30n16
2

2n




80.
1n

12

4

C

2

C n
31






81.
1n

2

5

C

3

C

1

C n
420




Put 16n 
82. Put x=1, 2x,x   and add those then it

is 
  1n3
3

1f 

83.  3
6

622
4

64
2

66
0

6 5C52C52C2C2 
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84.     



  5

52
3

54
1

5 C2C3C2

85.     2709722321
332





 

86.    
1n2

22
1155







 

87. Put m=2 and n=1

   x1x1 3 
Coefficient of 2x 033  ; option 2 is0

88.   223 b16.a.3a2 

89.  622 b16a   terms 716 

90. Each bracket 2 elements n brackets n2
elements

91. General term  r3
r

6 32C 

          









2

r

6

r
put findand6,5,4,3,2,1r 

92.    911 110110   divisible by 10

93.   1711818..........321

 



38510

10......321
2

2222

95. Standard result

96. 409
40

493910
39

49 qpCqpC 
4010

qp
 ;

4,1,  qp

97. Expand    nn aixandaix   then multiply
98. Put x=1 then a

0
 + a

1
+a

2
+…….+a

m
 = 1.2……..n

= n!

99. Take  1000x1 as common, after simplification

it becomes  1002x1  coefficient of 50x is

50
1002C

100.   44 x11x 
101. RxZn  

102.      0001.0.CC 1
10000

0
10000

 10000
10000

10000 0001.0 =

1 + 1 + ……… =  2

103.      !n21!.n   is minimum   !n21!n

!2


  is

maximum  n
21C is maximum

 
2

121
or

2

121
n




104. By using partial fractions
105. By using partial fractions

12 30 20
1

1 1 2 1 3x x x


   

  

NEW PATTERN QUESTIONS
1. (i) The no. of distinct terms in the expansion of

3
1 2 n(x +x +....+x )  is (n+2) 3C

(ii) The no. of irrational terms in the expansion
1/5 1/10 55(2 3 )  is 55

1) (i) is true (ii) is false
2) both (i) & (ii) are true
3) both (i) & (ii) are false
4) (i) is false (ii) is true

2. Let R=  2 1
5 5 11

n
  and F=R-[R] where [ ]

denotes greatest integer less than or equal to R,

and if  f =  2 1
5 5 11

n


List - I List - II
A) [R] 1) 1
B) RF 2) 2 14 n

C) f+F 3) odd integer
D) R+f 4) even integer

5) 2 14 n

The correct match is
A      B      C         D

1) 2       3       1        5
2) 1       5       2        3
3) 3       1       2        4
4) 3       2        1       4

3. The arrangement of the following with respect to
coefficient of rx  in ascending order

A) 5 -3x  in (1-x)

B)  7 2in 1 2 3 ...x x x   

C) 10 -1x  in (1+x)

D) 3 4x  in (1+x)
1) B,A,C,D 2) C,D,B,A
3) A,B,D,C 4) C,D,A,B

4. Assertion (A): n n n
r-1 r r+1C , C  and C  can be

H.P.

Reason (R): n n n
r-1 r r+1C , C  and C  may be in

A.P.
1) (A) is wrong but (R) is correct
2) (A) is correct but (R) is wrong
3) (A) is correct (R) is correct and (R) is not
     correct reason of (A)
4) (A) is correct (R) is correct and (R) is the
    correct reason of (A)

5. 1S : If the coefficients of 6X  and 7X  in the ex-
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pansion of 
x

3
4

n
  
 

 are equal, then the number

of divisors of n is 12.

2S : If the expansion of 
2 2

x
x

n
  
 

 for positive

integer n has 13 th term independent of x. Then
the sum of divisors of n is 39.
1) Only 1S  is true

2) Only 2S  is true

3) Both 1 2S  and S  are true

4)  Neither 1 2S  nor S  is true

6. 1S : The fourth term in the expansion of  2

9
1

2x+
x

 
 
 

is equal to the second term in the expansion of

 2 84
1 x  then the positive value of x is 

1

2 3

2S  : In the expansion of 
2

3

10
a

x
x

  
 

, the co-

efficients of 5 15x  and  x are equal, then  the posi-
tive value of a is 8
1) Only 1S  is true 2) Only 2S  is true

3) Both 1 2S  and S  are true

4) Neither 1 2S  nor S  is true
7. i. The sum of the binomial coefficients of the

   expansion 
1

n

x
x

  
 

 is 2n

ii. The term independent of x in the expansion

    of 
1

n

x
x

  
 

is 0 when is even.

Which of the above statements is correct?
1) Only i 2) Only ii
3) both i and ii 4) neither i nor ii

8. i. Three consecutive binomial coefficients can
    not be in G.P.
ii. Three consecutive binomial coefficients can
   not be in A.P.
Which of the above statement is correct?
1) both i and ii 2) neither i nor ii
3) Only i 4) Only ii

9. The arrangement of the following binomial expres-
sions in the ascending order of their independent
terms

A. 
10

2

3
x

x

  
 

B. 
6

1
x

x
  
 

C.  32
1 x D. 

9
23 1

2 3
x

x
  
 

1) C,A,B,D 2) B,C,A,D
3) C,A,D,B 4) D,C,B,A

10. Assertion (A): The coefficient of 7x  in 

92 2

2

x

x

 
 

 
is zero
Reason (R)    : r in 1rt   that contain coefficient of

7x  is not positive integer
1) Both A and R are true and the R is correct
    explanation of the A
2) Both A and R are true, but R is not correct
    explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

11. Assertion (A): In  1
n

x  sum of coefficients of
even powers of x is not equal to the sum of coef-
ficients off odd powers of x.

Reason (R): The value  1
n

x  for x = -1 is zero
1) Both A and R are true and the R is correct
    explanation of the A
2) Both A and R are true, but R is not correct
   explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

12. Assertion (A): The sum of the coefficients of the

middle terms in the expansion of  2 1
1

n
x

 is

equal to 2n
nC

Reason (R)    : To find the sum of the coefficients
of the two middle terms in the expansion

 2 1
1

n
x

  the     Value of n is any natural num-
ber.
1) Both A and R are true and the R is correct
    explanation of the A
2) Both A and R are true, but R is not correct
    explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

13. Observe the following lists:
List - I List - II

A. The value of the x for 1. 1 2 
      which the expansion 21 25x  is valid

B. If x is so small that 2x and 2. 
25

8
3

x

     higher powers of

C.  If 2 3
2 3 4

1
x x x

   
1

...
2

 

      then x=               3. 2 31 3 6 10 ...x x x   

D.   3
1 x

 4. 2

5. 
1 1

5 5
x


 
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The correct match for List-I from List-II is
A B C D

1. 4 3 2 1
2. 5 2 1 3
3. 3 4 5 1
4. 1 2 4 3

14. Assertion (A): The coefficient of 2x  in the ex-

pansion of 
5

2 1
x

x
  
 

is equal to 5
4C

Reason (R)    : The value of r for the above   ex-
pansion is 3.
1) Both A and R are true and the R is correct
    explanation of the A
2) Both A and R are true, but R is not correct
    explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

15. Assertion (A): The expansion of  1
n

x =

0 1 2
2 .... n

nC C x C x C x   
Reason (R)    : If 1x   , then the above expan-
sion is zero
1) Both A and R are true and the R is correct
    explanation of the A
2) Both A and R are true, but R is not correct
    explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

16. Assertion (A): The value of
2 2 2 2
0 1 2 .... nC C C C     is 2n

Reason (R) : The value of the above series is 2n
nC

1) Both A and R are true and the R is correct
explanation of the A
2) Both A and R are true, but R is not correct
explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

17. i. The value of the expansion   2
1 x

 =
2 31 3 4 5 ...x x x   

ii. The value of x in above expression  lies be-
tween  “0” and “1”
 Which of the above statement is correct
1) Only i 2) Only ii
3) Both i and ii 4) Neither i nor ii

18. Observe the following lists:
List - I List - II

A. The sum of (n+1) 1.  
( 1)

1
kCn




     terms in the series
      0 1. .a C a d C  
     2( 2 ). ....a d C  
B.  If rC denotes n rC , 2. . .n n r r

rC x a

      in the expansion of
       (1 )nx , the value

      of  
0

( 1).
n

r
r

r C



C.  The coefficient of 3. 0

      (0 )kx k n   in
       the expansion  of
       1 (1 )x  

       2(1 ) .... (1 )nx x     is

D. The general term in 4. 1( 2).2nn 
     ( )nx a is 5. 2( 2).2nn 

The correct match for List I from List II is
A B C D

1. 1 3 2 4
2. 1 4 2 3
3. 3 1 4 2
4. 3 4 1 2

19. A : If the term independent of x in the expansion of
10

2

n
x

x

  
 

is 405, then n =

B: If the third term in the expansion of
5

log 101
nn

n
    is 1000, then n = (here n<10)

C: If in the binomial expansion of  1
n

x , the
coefficients of 5th , 6th and 7th terms are in A.P
then n =
Arranging the values of n in ascending order
1) A,B,C   2) B,A,C    3) A,C,B   4) C,A,B

20. Assertion (A): Number of terms in the expansion

of  5x y z   is 21.
Reason (R)    : The number of terms in the expan-

sion of  nx y z  is  2
2

n
C



1) Both A and R are true and the R is correct
explanation of the A
2) Both A and R are true, but R is not correct
explanation of the A
3) A is true, but the R is false
4) A is false, but the R is true

KEY
1.1 2.4 3.2 4.1 5.1
6.4 7.1 8.3 9.3 10.1
11.4 12.2 13.2 14.3
15.2 16.4 17.4 18.4
19.2 20.1

PREVIOUS EAMCET QUESTIONS
[2005]

1.  15

0 11 .....x a a x    15
15a x
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15

1 1

r

r r

a
r
a 

 =

1) 110 2) 115 3) 120 4) 135

2. If 
1

2
x  , then the coefficient of rx  in the

expansion of  2

1 2

1 2

x

x



  is

1) .2rr 2)  2 1 2rr 

3) 2 1.2 rr  4)  2 1 2rr 
[2004]

3: The binomial coeff. which are in decreas-
ing  order are
1) 15 15 15

5 6 7, , ,c c c 2) 15 15 15
10 9 8, ,c c c

3) 15 15 15
6 7 8, ,c c c 4) 15 15 15

7 6 5, ,c c c

4. If 2

4

5 6

x

x x


 

 can be expanded in            as-

cending power of x  then the coefficient of
3x  is

1) 
73

648
 2) 

73

648
3) 

71

648
4) 

71

648



[2003]
5. If ra  is the coeff. of 2x  in the expansion of

 21
n

x x   then 1 2 32 3 ........a a a  

22 nna
1) 0 2) n 3) -n 4) 2n

6: The coefficient of 5x  in the expansion of

 52 2x x   is
1) -83 2) -82 3) -81 4) 0

[2002]

7. If the coefficient of x in the expansion of 
5

2

x

k
x 






 

is 270, then k=

1) 1 2) 2 3) 3 4) 4

8. The sum of the coefficients in the expansion of
(1+x+x2)n is

1) 2 2) 2n 3) 3n 4) 4n

9. In the expansion of (1+x)n the coefficients of pth
and (p+1)th term are respectively p and q then
p+q=
1)  n 2)  n+1 3)  n+2 4)  n+3

[2001]
10. If  (1+x)n = c

0 
+ c

1
.x1 + c

2
.x2 + ...+ c

n
.xn,  Then

 n210 C).1n(.....C.3C.2C

1)  (n+2)2n-1 2) n1n 2.n2 

3) n1n 2.n2  4) n1n 2)1n(2 

11. The coefficient of x4 in the expansion of

x21

)x31( 2




 is

1) 1 2) 2 3)  3 4)  4

12.  to...
12.8.4

3.1

8.4

3.1

4

1
1

1) 2 2) 
2

1
3) 3 4) 

3

1

[2000]

13. If the coefficient of r’th term and (r+1)th term in
the expansion of (1+x)20 are in the ratio 1:2, then
r=

1)  6 2)  7 3) 8 4) 9

14. The coefficient of 





 

x

1
1.)x1(inx nn

 is

1) 0 2) 1 3) 2n 4)  2nC
n

15. The sum of the coeffs. in the expansion of
1712 )x3x1(   is

1) 0 2) 1 3) -1 4) 2

[1999]

16. The coeff. of the middle term in the expansion of
40)x1(  is

1) 
201.3.5....39

.2
20!

2) 
!20

39....5.3.1

3) 
!20

!40
4) 40! 220

17. The coeff. of 8th term in the expansion of 10)x1( 
is

1) 120 2) 7 3) 10C
8

4) 210

18. The term independent of x in the expansion of
6

2

x

1
x 






   is

1) -12 2) 15 3) 24 4) -15

[1998]

19. ...
125.6.4.2

27.5.3.1

25.4.2

9.3.1

5.2

3.1
1  to =

1) 2/5 2) 5/2 3) 5/3 4) 3/5

20. If C
n
 is the coefficient of xn in the expansion of

(1+x)n, then  n321 C.n...C.3C.2C

1) n2 2) n2.n 3) 1n2.n  4) 1n2.n 
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21. The term independent of x in 
15

3
2

x

3
x2 



   is

1. 15C
9

 . 28.37 2) -15C
9 

. 210 . 35

3) 15C
9

 . 215 4) 15C
9

 . 36.29

[1997]

22. The sum of the series

...
9.6.3

)2k)(1k(k

6.3

)1k(k

3

k
1 





  is

1) 
4

3

2








2) 
k

2

3








3) 
3

2
4) 

2

3

23. The numerically greatest term in the expansion of
14)x23(  when x=4/5 is

1) 4th term 2) 5th term 3) 6th term 4) 7th term

24. If 



n2

0r

r
r

n2 ,xa)xx1(  then

...a.n2....a3a2a n2321 
1) 0 2) 1 3) n 4) -n

[1996]
25. The coefficient of x5 in the expansion of

452 )x1()x1(   is

1) 20 2) 30 3) 60 4) 55

26. If T
r
 denotes the rth term in the expansion of

,
x

1
x

23







   then

1) T
12

 = T
13

2) x2 . T
13

 = T
12

3) T
12

 = x2 T
13

4) T
12

 + T
13

 = 25

27. If C
0
,C

2
C

4
,.... are binomial coefficients in the ex-

pansion of (1+x)9 , then C
0
+C

2
+C

4
+C

6
+C

8
=

1) 27 2) 256 3) 29 4) 258

28. The term independent of x in the expansion of
10

2x

2

2

x










  is ...

1) 45/64 2) 64/45 3) 6/5 4) 4/5

29. If a
r
 is the coefficient of xr in (1-2x+3x2)n, then





n2

0r
r ....a.r

1) n.2n+1 2) n.2n-1 3) n.2n 4) n

30. Using the binomial expansion upto 3 terms the
approx value of (8.8)1/3 can be shown to be

1) 
900

67
2) 

900

107
3) 

900

58
4) 

900

47

[1995]

31. If the coefficients nC
4
, nC

5
, nC

6
 of (1+x)n are in

A.P. then n=

1) 12 2) 11 3) 7 4) 8

32. The expansion

   
5

2
1

3
5

2
1

3 1xx1xx 



 



   is a polyno-

mial of degree

1) 8 2) 7 3) 6 4) 5
]1994]

33. Let n be a positive integer.  If the coefficients of
2 nd, 3rd, 4th terms in (1+x)n are in A.P., then  n=

1)  5 2)  6 3)  7 4)  8

34. If (1+2x+x2)n = 


n2

0r

r
r ,xa  then a

r
 =

1)  2r
nC 2) 1r

n
r

n C.C 

3)  r
n2 C 4)   1r

n2 C 

35. The coefficient of x3
 
in

 

6

3

5

x

3
x 










 is

1) 0 2)  120 3)  420 4)  540
36. If (1+x)n = C

0
 + C

1
x1

 
+ ---- + C

n
 xn, then C

0
 – C

2+ C
4
 – C

6
 + ---- =

1)  2 n – 1 2)  2n/2 sin 
4

n

3)  2n/2 cos 
4

n
4)  0

[1992]

37.
 







1n

C.1
.....

3

C

2

C

1

C n
n

210

1) 
1n

n


2)

1n

1


3)  

1n

2n


4)  

1n

12n




38. If n is a positive integer,  



n

0r

2
r

nC

1)  0 2)  2/n
nC

3)  
 

!n

!n2
4)  

 
 2!n

!n2

[1991]
39. The number of non zero terms in the expansion of

   99
x231x231   is

1)  9 2)  0 3)  5 4)  10
40. If C

0
 , C

1
, ----, C

n
 are binomial coefficients in the

expansion of (1 + x)n, then





1n

x
.C

3

x
.C

2

x
.CC

n

n

2

210
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1)  
 

 1n

1x1 1n


 

2)  
 
 x1n

1x1 1n


 

3)  
 
 x1n

1x1 1n


 

4)  
 

 1n

1x1 1n


 

[1990]

41. In 
18

x

2
x 






  , the term independent of x is

1)  6
18C 2)  6

18 C2
3)  6

6
18 2.C 4)  6

18 C16 
[1989]

42. The term independent of x in the expansion of

(1+x)n. 
n

x

1
1 






   is

1)  2
n

2
2

2
1

2
0 CCCC 

2)   2n3210 CCCCC 

3)    2
n

2
2

2
1

2
0 C1nC.3C.2C 

4)  None

43.  to
24.16.8

5.3.1

16.8

3.1

8

1
1

1) 5/1  2) 5/2  3) 5 4) 2/5
[1988]

44. The sum of the coefficients of even powers of x in
the expansion of (1 + x + x2

 
+x3)5 is

1)  512 2)  256 3)  128 4)  None

45. The term independent of x in  203/12/1 x3x2 
is

1)  2.6.C 8
8

20 2)  88
8

20 3.2.C

3)  48
8

20 3.6.C 4)  12
12

20 6.C
[1984]

46. The term independent of x in the expansion of
10

2x

3

3

x








  is

1)  5/9 2)  5/3 3)  1/3 4)  4/3
[1983]

47. If coefficients of x7 and x8 in 
n

3

x
2 






   are equal

then n =
1)  56 2)  55 3)  45 4)  15

[1982]
48. The term independent of x in the expansion of

9
2

x

1
x 






   is

1)  1 2)  –1 3)  48 4) 84

Eamcet-2007

49. If ka is the coefficient tof kx  in the expansion of

 21
n

x x   for k = 0, 1, 2, ........, 2n then

1 2 3 22 3 ........ 2
n

a a a na            (E-2007)

1) 0a 2) 3n 3) .3nn 4) 3nn 
50. The coefficient of kx  in the expansion of

21 2
x

x x

c
 

 is      (E-2007)

1) 
21

!

k k

k

 
   2) 

2 1

!

k

k


   3) 

1

!

k

k


   4) 

1

!k

KEY

1. 3 2. 4 3. 4 4. 1 5. 3
6. 3 7. 3 8. 3 9. 3 10. 1
11. 4 12. 1 13. 2 14. 2 15. 3
16. 1 17. 1 18. 2 19. 1 20. 4
21. 4 22. 2 23. 3 24. 4 25. 3
26. 3 27. 2 28. 1 29. 1 30. 3
31. 3 32. 2 33. 3 34. 3 35. 4
36. 3 37. 2 38. 4 39. 3 40. 2
41. 3 42. 1 43. 2 44. 1 45. 3
46. 2 47. 2 48. 4 49. 3 50. 1


